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1. (10%)°-�”ÌM:(a)lim
x→0

1− cos x

x2
(b)lim

x→0

tan x− sin x

x3
.

2. (10%)ø�Ê¶ê¦« 4000 L�±5Ù	œ, úÄ�ò¯˛5Ê¶†Ùw¯˛¬˙� JÊ

¶ò�® 3000 L�ví§�Ñ 600 L�/”, ½kvmÈÙ	œ5 i‰“@Ö0jª

†Ùv¬˙?

3. (10%)°
d

dx

∫ x3

√
x

√
t sin t dt.

4. (10%)ì2

f(x) =

{

sin 2x cos x− sec x x ≤ 0
ax + b x > 0

(a) ˛øƒb f(x) Ê (−π/2, π/2) ,ª�, t°�b a, b 5M�

(b) ƒb f(x) Ê x = 2 Tu´ùŸª�?

5. (10%)°�( x2/3 + y2/3 = a2/3 ,øõ (x0, y0) 5~(\ x £ y Wi|í(¨Å��

6. (10%)ç y =
x3 − 2x2 + x− 1

x− 2
v, ú|wfÇ, ÛN|w¯±5T, po5T, ¥�õ,

”M£Ú¡(�

7. (10%)

(a) °

∫

0

−π/4

sec x tan x
√

sec x
dx

(b) „p

∫ π/2

π/4

sin x

x
dx ≤

√
2

2
.

8. (15%)q P (a, a2) ÑrÊ�Ó( y = x2 ,�×õ Q(4, 2) |¡5õ�

(a) „p a Å—j˙� 2a3 − 3a− 4 = 0�

(b) „pj˙� 2a3 − 3a− 4 = 0 /�øõ;�

(c) „põ Q rÊ�Ó( y = x2 kõ P í¶(,�

9. (10%)àÇ, /AdMøÅÑ l 5ÄM•Êø Ñ a 5Åï, Åï`å¬Qø Ñ b
(b < a) í•ï,t½vÄMª\dM•ª Ñ b •ïí|×MÅÑS?
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